2. Higher the return higher will be the risk. In this
context, discuss the various risks
asser.
ﬁrﬂﬂﬁmﬁﬁaﬁmmﬁﬁ;a}f@nmtméﬂﬁ
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Unit-IT (3372-11)

3. A company is considering an investment proposal 1o
install & new machinery. The project will cosi
50,000 with life of 5 years and no salvage value.
The tax rate of the company 55% and it uses straight
line depreciation. The estimated cash flows before
lax (CFBT) are T 10,000, T 11000, 7 14,000,
¥ 15,000 and T 25,000, during the year [, 2, 3. 4
and 5 respectively.

associated with an

Compute :

() Average rate of return

(i) NPV at 10% discount

(i) Profitability index at 10% discount rate,

PV Factor at 10% for five year 0.909, 0.826. ().751.
0.683, 0.621

T HA 7 wyid e o o v
Wmmlﬁ%lwmﬁﬂmﬁiaﬁﬁﬁ
W%maﬁm%ﬁmqm‘%?sonm
%!Mﬁﬁﬂﬂﬁﬁ%%ﬁ?ﬂ?ﬁ'ﬁi@

1 I FA ¥ wHw: qg 1.2,3,4 3 5% exm
O AR IwE e (CFBT) ¥ 10,000,
TLLO00, T 14.000. 7 15,000 2 25.000 7
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4.

o it
() fed =t ofmm =
(i) TAdEr 10% T W

T |
(i) 10% B o W AT AR
qtg ad # few 10% W OdE FERX0.909. 0.826,
0.751. 0.683, 0.321 .‘ '
The Board of Management of X Ltd will pay
a dividend of T 3 per equity share after a year.
Share is selling at € 50 and it is estimated that

14

(a)

after a year the price will be T 53 ¢

(i)  What will be present value of equity share,

if required rate of return is 10%. :

Calculate the return on share. if it is

brought and sold after a year.

X e @1 warm @ wh a4 & =% T 3 ufd

ThaFt S @ SpTEE S e AW 9E 350

o fazgt @ @ # 3w HA ¥ fF ok ww Aaw

wHd T 53 o Y

(i) dfg fred #: AEETs T |‘0%%msﬁait
PR &1 SAuE ged w9 OEm 2

iy Afr Y T A @ WG T 3 S S
%, @ =a w fred w1 e Fifm

(i)
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(b) Mr. X has a perpetual bond of the face value

of ¥ 1,000. He receives an interest of T 80
annually. Tts current value is T 1,200. What is
the yield of maturity ?
AMM X & wE T 1,000 sifwa geg w1 e
e T I wer T 80 w1 = e ¥ Eem
T ¥eE T 1,200 ¥ ofivgam &t =ws @
2

Unit—TIT (3&T-111)

5. The following is an extract from financial statement

of Z Lud : T lakhs
Operating profit 180
Less @ Interest on debentures ___4_8_

132

Less @ Income tax (50%) 66

Net Profit T 66
Equity share capital (shares of ¥ 10 each) 300
Reserves and surplus 150
16% Non-convertible debenture 300
750

The market price per equity share is ¥ 11 and per

debenture T 95.

(i)  What is earning per share ?

(i)  What is the percentage cost of capital to the
company for the equity and debenture fund.

CH-274 (4)

7 fafes & fasdta faam =1 sgo frafafem &

7 orE H

it E 180
HIGr ¢ HU-TH U #HE 48
132

g ; SEEL (50%) 66

@ e 66
et $i oS (s T 10 & OIR) 300
w9g ud #fPm 150
16% Tre—aftad4ta FHo-13 300
750

yfa 3faad vrar & 9w qeq 11 iR ufa s
7 95 %I

() wia YR wEE @ R O?
(i) zfEd i wmu-uw we & fou weEl &g

1 ufaya @@ = F 7 14

. A company issues 10,000, 12% Debentures of ¥ 100

each, The debentures are redeemable after 10 years.

Tax rate is 35%. You are required to complete the

cost of debenture, if debentures are issued at :

(i) Par

(it)  10% Discount

(i) 10% Premium
CH-274 i 54 Turn Over



uF A 10000 ¥ OF OWEE T 100 FO12%
FO-TH R HA T OHO-IH 10 TG h W@ g
1 TFA ¥ WL W G 35% ¥ Al wmu-uR S
Sl e e e 1 e B G 1

(i) =9 ge9 T
(i) 10% & 7
(iii) 10% wfggs =

Unit-IV (3&1E-1V)

7. The following information is available in respect of
XYZ Lud.
(i) Eaming per share ¥ 10
(i) Cost of capital (K,) 15%.
Calculate the market price of share under different
rate of return (r) 20%,. 15% and 10% for different
payout ratios of (a) 40%, (b) 80%, (c) 100%.

Xyz fafmre 3 o=y i frafafes SEs0 39e@

L ,
(i) wha = =1 2 10

(i) ot B R (K) 15%

(1) 40%, (b) B0%. (c) 100% = fafw= smam &g
% fau fred #1 faf R (1) 20%, 15% SR 10%
% TEd VAT % AW Hed FOTUA] HSC

CH-274 (8)
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8.

Discuss fully the Gordon’s Model of relevance of
dividend policy of the valuation of firm.

WH % HeAisa w1 e Aifa w1 wEfwa & e

Higd W Y wE 9 == wifew) 14
Unit-V (z&TE-V)
9. Use the following particular, determine working capital
required by XYZ Lid :
(i) Average amount lock-up in Stocks : 3
Stock of raw material 20,000
WIP 4,000
Stock of finished goods 30,000
(i) Average credit given :
Home market : 2 weeks credit 2,60,000
Foreign market : 6 weeks credit 6,24,000
(i) Time available for Payments :
For Purchases : 4 weeks 1,56,000
For Wages : 2 weeks 2,08,000
For Mfg. Expenses : | week 78,000
You may add 10% to allow for contingencies.
frfafan favm =1 s99m 30 gu, XYZ fafies gm
wEvTE FwEfE O @ fauior Fifeg o
(i) =fF T sima afw cis- s T
we O F R 20,000
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4,000
30.000

2,60,000
6,24.000

. 1,56,000

2,08,000
78,000

Y AERTE@E #1 wEE B A 10% e wEd

%

10. What is meant by Working Capital Forecast ? Briefly
explain the techniques used in making such forecasts.

wrfvier got qErEE @ o o # .2 W qEiEe
@M B SwEm W WA Al ARl H HEY H

HHATRL
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Total No. of Questions : 10] [Total No. of Printed Pages : 8
(2034)
UG (CBCS) IIIrd Year (Annual)
Examination

2974

B.COM.
(Fundamentals of Financial Management)
(DSE-2)
Paper : BC 3.2(a) Old Code
BC 3.1(c) New Code

Time : 3 Hours] [Maximum Marks : 70

Note — Attempt one question from each Unit, Attempt five
questions in total,

Yo e O RS UH YA Hifaw| ®E uE ¥
Ff |
Unit-1 (F&E-1)

1. Critically examine the modern concept of Financial
Munagement and discuss the impact of financial
decision on the Growth and Value ol Firm,
foefta wasA 1 AMfAE dEETm E A
qhm Fifau st wd & fawm s g w faAE
ffg & w0 == i 14
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